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1. 3 0.000064  is equal to?

(a) 0.002 (b) 0.2

(c) 2 (d) 20

2. Which of the following is correct?

(a) Cube of a negative number is always positive.
(b) Cube of a negative number is always negative.

(c) Cube of a negative number may be positive or
negative.
(d) All of the above

3. If we divide additive inverse of 2 by the multiplicative
inverse of 2,we get:

(a) 2 (b) -1

(c) 1 (d) -4

1. 3 0.000064  fdlds cjkcj gS \

(a) 0.002 (b) 0.2

(c) 2 (d) 20

2. fuEufyf[kr esa ls dkSu lk lgh gS \

(a) _.kkRed la[;k dk ?ku ges'kk èkukRed gksrk gSA

(b) _.kkRed la[;k dk ?ku ges'kk _.kkRed gksrk gSA

(c) _.kkRed la[;k dk ?ku èkukRed ;k _.kkRed gks ldrk
gSA

(d) mijksä lHkh

3. ;fn ge 2 ds ;ksT; O;qRØe dks 2 ds xq.kukRed O;qRØe ls
foHkkftr djrs gSa] rks gesa çkIr gksrk gS%

(a) 2 (b) -1

(c) 1 (d) -4

MATHS
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4. What number would be subtracted from both the

terms of the ratio 15:19 in order to make it 
3

4

(a) 4 (b) 3

(c) 2 (d) 6

5. If A is 25% less than B, then what will be the value of
(2B-A) / A ?

(a)
5

4
(b)

3

2

(c)
3

4
(d)

5

3

6. Rs. 6,300 is divided between x,y,z such that x:y = 7:5
and y:z = 4:3, find the share of y.

(a) 2000 (b) 1800

(c) 2400 (d) 2200

7. If 12 A = 16 B = 15 C ; Find A:B:C .

(a) 12:16:15 (b) 15:16:12

(c) 20:15:16 (d) 16:15:20

8. The compound interest on a certain sum of money
for 2 years is Rs. 208 and the simple interest for the
same time at the same rate is Rs. 200. Find the rate %
?

(a) 5% (b) 6%

(c) 7% (d) 8%

9. A student secures 30% marks and fails by 50 marks in
an examination. Another student gets 300 marks and
fails by 30 marks. What is the maximum marks of the
examination?

(a) 700 (b) 800

(c) 1000 (d) 1100

4. vuqikr 15%19 ds nksuksa inksa ls dkSu lh la[;k ?kVkÃ tk,xh

rkfd ;g 
3

4
 gks tk,

(a) 4 (b) 3

(c) 2 (d) 6

5. ;fn A, B ls 25% de gS] rks (2B-A)/A dk eku D;k
gksxk \

(a)
5

4
(b)

3

2

(c)
3

4
(d)

5

3

06. 6]300 #i;s dks x, y, z ds chp bl çdkj foHkkftr fd;k
tkrk gS fd x:y = 7:5 vkSj y:z = 4:3, y dk fgLlk Kkr
dhft,A

(a) 2000 (b) 1800

(c) 2400 (d) 2200

7. ;fn 12 A = 16 B = 15 C; A:B:C Kkr dhft,A

(a) 12:16:15 (b) 15:16:12

(c) 20:15:16 (d) 16:15:20

8. fdlh fuf'pr èkujkf'k ij 2 o"kks± ds fy, pØòf) C;kt 208
#i;s gS vkSj leku nj ij leku le; ds fy, lkèkkj.k C;kt
20 #i;s gSA nj Kkr dhft,\

(a) 5% (b) 6%

(c) 7% (d) 8%

9. ,d Nk= ,d ijh{kk esa 30% vad çkIr djrk gS vkSj 50 vadksa
ls vuqÙkh.kZ gks tkrk gSA ,d vU; Nk= 300 vad çkIr djrk
gS vkSj 30 vadksa ls vuqÙkh.kZ gks tkrk gSA ijh{kk ds vfèkdre
vad D;k gSa\

(a) 700 (b) 800

(c) 1000 (d) 1100
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10. If the perimeter of a trapezium is 52cm, its non-
parallel sides are equal to 10cm each, and its altitude
is 8cm. Find the area of trapezium.

(a) 128 sq. cm (b) 132 sq. cm

(c) 144 sq. cm (d) 158 sq. cm

11. The quadrilateral whose diagonals are perpendicular
to each other is:

(a) Parallelogram (b) Rectangle

(c) Trapezium (d) Rhombus

12.  In the figure, KLMN is a rhombus. The value of b-a is?

N M

LK

a

o b

36º

(a) 36 (b) 54

(c) 18 (d) 27

13. The length of a rectangle is 6cm and the width is 4cm.
If the length is increased by 2cm, what should be the
width of the new rectangle that has the same area as
the first one?

(a) 3cm (b) 4cm

(c) 5cm (d) 6cm

14. All angles of regular polygon are of _____ .

(a) 90 (b) 60

(c) equal in meassure (d) none of these

15. If the sum of three consecutive even numbers is 234,
then smallest among them is _____ .

(a) 76 (b) 80

(c) 78 (d) none

10. ;fn ,d leyEc prqHkqZt dk ifjeki 52 lseh gS] bldh
vlekarj Hkqtk,¡ 10 lseh çR;sd ds cjkcj gSa] vkSj bldk dks.k
8 lseh gSA leyEc prqHkqZt dk {ks=Qy Kkr dhft,A

(a) 128 oxZ lseh (b) 132 oxZ lseh

(c) 144 oxZ lseh (d) 158 oxZ lseh

11. og prqHkqZt ftlds fod.kZ ,d nwljs ij yacor gSa og gS %

(a) lekarj prqHkqZt (b) vk;r

(c) leyac (d) fo"kedks.k

12. fp= esa] KLMN ,d leprqHkqZt gSA b-a dk eku D;k gS \

N M

LK

a

o b

36º

(a) 36 (b) 54

(c) 18 (d) 27

13. ,d vk;r dh yackÃ 6 lseh vkSj pkSM+kÃ 4 lseh gSA ;fn yackÃ
2 lseh c<+k nh tk,] rks u, vk;r dh pkSM+kÃ D;k gksuh pkfg,
ftldk {ks=Qy igys okys ds leku gks \

(a) 3 lseh (b) 4 lseh

(c) 5 lseh (d) 6 lseh

14. fu;fer cgqHkqt ds lHkh dks.k ------------ ds gksrs gSaA

(a) 90 (b) 60

(c) eki esa cjkcj (d) buesa ls dksÃ ugÈ

15. ;fn rhu Øekxr le la[;kvksa dk ;ksx 234 gS] rks muesa ls
lcls NksVh la[;k ------------- gSA

(a) 76 (b) 80

(c) 78 (d) dksÃ ugÈ
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16. If 
2

3
of a number if 20 less than the original number,,

then the number is _____ .
(a) 40 (b) 120
(c) 60 (d) 80

17. The multiplicative inverse of (X+1) +  
1

1X 
 is

(a)  
1

+(X-1)
1X 

(b)  
1

(X -1)-
1X 

(c)  
2

1X

X

 (d)  
2

1X

X



18. The least number to be subtracted from 220 so that it
becomes a perfect cube is ______
(a) 4 (b) 10
(c) 16 (d) 20

19. What is the number of diagonals in a polygon, if the
number of its sides is equal to n?

(a)
2

n
(b)

3

n

(c)
(n 3 )

2

n 
(d)

(n 3 )

2

n 

Directions: (20-23) study the chart and answer the
quetions: the Pie chart gives here represents the
domestic expenditure of a family in percent. Study
the chart and answer the following questions if the
total monthly income of the family is Rs. 33,650.

Prov
ide

nt  

fund

Food

H
ou

s e
re

nt

Entertainment

Child Ed ucation

M
ed

ic
al 12%

25%

18%

9%
23%

13%

Expenditure of Family

16. ;fn fdlh la[;k dk 
2

3
 Hkkx ewy la[;k ls 20 de gS] rks og

la[;k ---------------- gSA
(a) 40 (b) 120
(c) 60 (d) 80

17. (X+1) +  
1

1X 
 dk xq.kukRed O;qRØe gS

(a)  
1

+(X-1)
1X 

(b)  
1

(X -1)-
1X 

(c)  
2

1X

X

 (d)  
2

1X

X



18. 22050 esa ls og lcls NksVh la[;k ?kVkus ij tks iw.kZ ?ku cu
tk,] ---------- gS
(a) 4 (b) 10
(c) 16 (d) 20

19. ,d cgqHkqt esa fod.kks± dh la[;k D;k gS] ;fn bldh Hkqtkvksa
dh la[;k n ds cjkcj gS\

(a)
2

n
(b)

3

n

(c)
(n 3 )

2

n 
(d)

(n 3 )

2

n 

pkVZ dk vè;;u djsa vkSj ç'uksa ds mÙkj
nsa% ;gk¡ fn;k x;k ikÃ pkVZ çfr'kr esa ,d ifjokj ds ?kjsyw
O;; dks n'kkZrk gSA pkVZ dk vè;;u djsa vkSj fuEufyf[kr
ç'uksa ds mÙkj nsa ;fn ifjokj dh dqy ekfld vk; 33]650
#i;s gSA

Provid
ent  

fun
d

Food

H
ou

s e
re

nt

Entertainment

Child Education

M
ed

ic
al 12%

25%

18%

9%
23%

13%

Expenditure of Family
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20. The house rent per month is

(a) Rs. 6000 (b) Rs. 6152

(c) Rs. 6057 (d) Rs. 6048

21. The annual savings in the form of provident fund
would be:-

(a) Rs. 48456 (b) Rs. 48540

(c) Rs. 44856 (d) Rs. 48480

22. After providential fund deductions and payment of
house rent the total monthly income of the family
remains :-

(a) Rs. 23545 (b) Rs. 24435

(c) Rs. 23555 (d) Rs. 25355

23. The total amount per month, the family depends on
food and entertainment combined together, is:-

(a) Rs. 11432 (b) Rs. 11441

(c) Rs. 12315 (d) Rs. 12443

24. A quadrilateral can be constructed _____ if the lengths
of its four sides and a diagonal is given.

(a) uniquely (b) complete

(c) incomplete (d) can't be constructed

25. How many natural numbers lie between 92 and102 ?

(a) 17 (b) 18

(c) 19 (d) 20

20. çfr ekg edku dk fdjk;k gS

(a) 6000 #i;s (b) 6152 #i;s

(c) 6057 #i;s (d) 6048 #i;s

21. Hkfo"; fufèk ds :i esa okÆ"kd cpr gksxh%&

(a) 48456 #i;s (b) 48540 #i;s

(c) 44856 #i;s (d) 48480 #i;s

22. Hkfo"; fufèk dVkSrh vkSj edku fdjk, ds Hkqxrku ds ckn
ifjokj dh dqy ekfld vk; jgrh gS%&

(a) 23545 #i;s (b) 24435 #i;s

(c) 23555 #i;s (d) 25355 #i;s

23. ifjokj çfr ekg Hkkstu vkSj euksjatu ij dqy feykdj fdruh
jkf'k [kpZ djrk gS%&

(a) 11432 #i;s (b) 11441 #i;s

(c) 12315 #i;s (d) 12443 #i;s

24. ,d prqHkqZt dh jpuk ----------------- dh tk ldrh gS] ;fn bldh
pkjksa Hkqtkvksa vkSj fod.kZ dh yackÃ nh xÃ gksA

(a) vf}rh; :i ls (b) iw.kZ

(c) viw.kZ (d) jpuk ugÈ dh tk ldrh

25- vkSj ds chp fdruh çk—frd la[;k,¡ gSa \

(a) 17 (b) 18

(c) 19 (d) 20
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26. Process of beating grains to separate them from crop
plants is called

(a) Winnowing (b) Threshing
(c) Harvesting (d) Manuring

27. Leaving soil uncultivated for one crop season is called
as

(a) Crop rotation (b) Threshing
(c) Harvesting (d) Fallowing

28. Rotation of crop is essential for

(a) Getting variety of crops
(b) Removal of weeds

(c) Increasing fertility of soil
(d) All of these

29. Which of the following should be used by a farmer
with a large farm to harvest his crops quickly and
efficiently?
(a) Winnowing machine (b) Combine

(c) Sickle (d) Seed drill
30. Organic wastes can be decomposed to form which

can sustainably enhance the nutrient content of the
soil.
(a) compost (b) cow dung
(c) fertiliser (d) pesticide

31. Which of the following is a disease caused by
protozoans ?

(a) Tuberculosis (b) Polio
(c) Malaria (d) Typhoid

32. Which of the following diseases is caused by a
bacteria?

(a) Chicken pox (b) Tuberculosis

(c) Dengue (d) Polio

26. vukt dks ihVdj Qly ds ikSèkksa ls vyx djus dh çfØ;k
dks dgrs gSa

(a) fouksbax (b) FkzsÇlx

(b) gkosZÇLVx (d) [kkn Mkyuk

27. ,d Qly ds ekSle ds fy, feêh dks fcuk tksrs NksM+uk
dgykrk gS

(a) Qly pØ.k (b) FkzsÇlx

(c) gkosZÇLVx (d) ijrh Hkwfe

28. Qly pØ.k vko';d gS

(a) fofHkUu çdkj dh Qlysa çkIr djuk

(b) [kjirokjksa dks gVkuk

(c) feêh dh moZjrk c<+kuk

(d) ;s lHkh

29. tSfod dpjs dks fo?kfVr djds ,sls :i cuk, tk ldrs gSa tks
feêh dh iks"kd lkexzh dks LFkk;h :i ls c<+k ldrs gSaA

(a) [kkn (b) xkscj

(c) moZjd (d) dhVuk'kd

30. tSfod dpjs dks fo?kfVr djds ,sls :i cuk, tk ldrs gSa tks
feêh dh iks"kd lkexzh dks LFkk;h :i ls c<+k ldrs gSaA

(a) dEiksLV (b) xkscj

(c) moZjd (d) dhVuk'kd

31. fuEufyf[kr esa ls dkSu lk jksx çksVkstksvk ds dkj.k gksrk gS \

(a) risfnd (b) iksfy;ks

(c) eysfj;k (d) VkbQkbM

32. fuEufyf[kr esa ls dkSu lk jksx cSDVhfj;k ds dkj.k gksrk gS \

(a) fpdu i‚Dl (b) risfnd

(c) Msaxw (d) iksfy;ks

SCIENCE
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33. Some plants have nitrogen-fixing bacteria in their root
nodules. What are these bacteria called ?

(a) Blue green algae (b) Nitrosomonas
(c) Azotobacter (d) Rhizobium

34. In order to take precautionary steps to control
dengue, we must take measures to stop the breeding
of:
(a) Aedes mosquito (b) Fleas

(c) Fire ants (d) Anopheles mosquito
35. Carbonisation is a:-

(a) Slow conversion of dead vegetation into coal
(b) Deposition of soil
(c) falling of trees

(d) None of these
36. Coal is produced in industry to get

(a) Coke (b) Coal tar
(c) Coal gas (d) All of these

37. Coal tar is used in manufacture of

(a) Synthetic dyes (b) Drugs
(c) Explosives (d) All of these

38. Naphthalene balls are obtained from
(a) Carbon (b) Coke

(c) Coal tar (d) Coal gas
39. Refining is

(a) Extracting petroleum gas

(b) Separation of various fractions of petroleum
(c) Heating of coal

(d) Sedimentation of fossil fuel
40. Which one of the following species is not included

under the 'Red List'?
(a) Vulnerable (b) Endangered

(c) Endemic (d) Extinct

33. dqN ikSèkksa dh tM+ksa dh xkaBksa esa ukbVªkstu&fQÇDlx cSDVhfj;k
gksrs gSaA bu cSDVhfj;k dks D;k dgk tkrk gS \

(a) uhyk gjk 'kSoky (b) ukbVªkslkseksul

(c) ,t+ksVkscSDVj (c) jkbt+ksfc;e

34. Msaxw dks fu;af=r djus ds fy, ,gfr;krh dne mBkus ds fy,]
gesa fuEufyf[kr ds çtuu dks jksdus ds mik; djus pkfg,%

(a) ,Mht ePNj (b) fiLlw

(c) vfXu pÈfV;k¡ (d) ,uksQ+syht+ ePNj

35. dkcZuhdj.k gSA

(a) e`r ouLifr dk dks;ys esa èkhjs&èkhjs :ikarj.k

(b) feêh dk teko

(c) isM+ksa dk fxjuk

(d) buesa ls dksÃ ugÈ

36. m|ksx esa dks;ys dk mRiknu fuEu ds fy, fd;k tkrk gS

(a) dksd (b) dksy Vkj

(c) dksy xSl (d) ;s lHkh

37. dksy Vkj dk mi;ksx fdlds fuekZ.k esa fd;k tkrk gS

(a) ÇlFksfVd jax (b) nokb;k¡
(c) foLQksVd (d) ;s lHkh

38. usQ+Fkyhu c‚Yl fuEu ls çkIr dh tkrh gSa

(a) dkcZu (b) dksd

(c) dksy Vkj (d) dksy xSl

39. fjQkbÇux gS

(a) isVªksfy;e xSl fudkyuk

(b) isVªksfy;e ds fofHkUu va'kksa dks vyx djuk

(c) dks;ys dks xeZ djuk

(d) thok'e b±èku dk volknu

40. fuEufyf[kr esa ls dkSu lh çtkfr *yky lwph* esa 'kkfey ugÈ
gS\

(a) det+ksj (b) ladVxzLr

(c) LFkkfud (d) foyqIr
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41. What is the main reason that many species are
becoming endangered ?

(a) Habitat Destruction (b) Disease

(c) Natural Selection (d) Acid rain

42. The process of conversion of fertile lands into deserts
is known as:

(a) Famine (b) Acid rain

(c) Drought (d) Desertification

43. _________is referred to as the variety of animals,
plants and microbes generally found in an area.

(a) Flora (b) Extinct species

(c) Biodiversity (d) Fauna

44. Birds that travel long distances to overcome harsh
conditions are known as

(a) travelling birds (b) flying birds

(c) endangered birds (d) migratory birds

45. Ignition temperature is

(a) Lowest temperature at catch fire

(b) Higher temperature at catch fire

(c) Any temperature

(d) None of these

46. Combustion is a

(a) Chemical process

(b) Physical process

(c) Both of these processes

(d) None of these processes

47. The products of combustion are

(a) Carbon dioxide and water

(b) Oxygen and water

(c) Only carbon dioxide

(d) Only oxygen

41. dÃ çtkfr;ksa ds ladVxzLr gksus dk eq[; dkj.k D;k gS \

(a) vkokl fouk'k (b) jksx

(c) çk—frd p;u (d) vEyh; o"kkZ

42. dÃ çtkfr;ksa ds ladVxzLr gksus dk eq[; dkj.k D;k gS \

(a) vkokl fouk'k (b) jksx

(c) çk—frd p;u (d) vEyh; o"kkZ

43. ----- dks vke rkSj ij fdlh {ks= esa ik, tkus okys tkuojksa] ikSèkksa
vkSj lw{e thoksa dh fofoèkrk ds :i esa lanÆHkr fd;k tkrk gSA

(a) ouLifr (b) foyqIr çtkfr;k¡

(c) tSo fofoèkrk (d) tho&tarq

44. dfBu ifjfLFkfr;ksa ls ikj ikus ds fy, yach nwjh r; djus okys
if{k;ksa dks D;k dgrs gSa

(a) ;k=k djus okys i{kh (b) mM+us okys i{kh

(c) ladVxzLr i{kh (d) çoklh i{kh

45. çToyu rkieku gS

(a) vkx yxus ij lcls de rkieku

(b) vkx yxus ij lcls vfèkd rkieku

(c) dksÃ Hkh rkieku

(d) buesa ls dksÃ ugÈ

46. ngu ,d

(a) jklk;fud çfØ;k

(b) HkkSfrd çfØ;k

(c) ;s nksuksa çfØ;k,¡

(d) buesa ls dksÃ ugÈ

47. ngu ds mRikn gSa

(a) dkcZu Mkbv‚DlkbM vkSj ikuh

(b) v‚Dlhtu vkSj ikuh

(c) dsoy dkcZu Mkbv‚DlkbM

(d) dsoy v‚Dlhtu
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48. Burning of charcoal in a closed room will produce

(a) Carbon dioxide (b) Nitrogen dioxide

(c) Carbon monoxide (d) All of these

49. Which substance give heat and light after combustion

(a) Flame (b) Fuel

(c) Combustion (d) None of these

50. Partial sterlization of a product such as milk at a high
temperature is known as :-

(a) Pasteurisation (b) Filtration

(c) Pickling (d) Refrigeration

48. can dejs esa pkjdksy tykus ij

(a) dkcZu Mkbv‚DlkbM (b) ukbVªkstu Mkbv‚DlkbM

(c) dkcZu eksuksv‚DlkbM (d) ;s lHkh

49. ngu ds ckn dkSu lk inkFkZ xeÊ vkSj çdk'k nsrk gS

(a) Tokyk (b) b±èku

(c) ngu (d) buesa ls dksÃ ugÈ

50- mPp rkieku ij nw/k tSls mRikn dk vkaf'kd LVjykbts'ku
dgykrk gS %

¼1½ ik'pqjhdj.k ¼2½ fuLianu

¼3½ vpkj cukuk ¼4½ ç'khru
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SOCIAL SCIENCE
51. People of Nepal adopted a new Constitution for the

country in:

(a) 2014 (b) 2015

(c) 2016 (d) 2017

52. Which is the third tier of government ?

(a) Central Government (b) State Government

(c) Panchayti Raj (d) None of the above

53. The Constitution prohibits human trafficking, forced
labour, and employment of children under ____ years
of age.

(a) 12 (b) 14

(c) 15 (d) 16

54. Which amendment of the U.S. Constitution prohibits
theLegislature from making laws "respecting an
establishment of religion" ?

(a) First (b) Second

(c) Third (d) Fourth

55. Who is the leader of the ruling party in the Lok Sabha?

(a) Lok Sabha Speaker (b) Home Minister

(c) Defence Minister (d) Prime Minister

56. How many members are nominated to the Rajya
Sabha by President?

(a) 9 (b) 10

(c) 11 (d) 12

57. In which year James Mill published his work "A History
of British India" ?

(a) 1815 (b) 1817

(c) 1819 (d)1821

51. usiky ds yksxksa us ns'k ds fy, ,d u;k lafoèkku dc viuk;k%

(a) 2014 (b) 2015

(c) 2016 (d) 2017

52. ljdkj dk rhljk Lrj dkSu lk gS \

(a) dsaæ ljdkj (b) jkT; ljdkj

(c) iapk;rh jkt (b) mijksä esa ls dksÃ ugÈ

53 lafoèkku ekuo rLdjh] tcju Je vkSj --------- o"kZ ls de mez
ds cPpksa ds jkstxkj ij çfrcaèk yxkrk gSA

(a) 12 (b) 14

(c) 15 (d) 16

54. vesfjdh lafoèkku dk dkSu lk la'kksèku foèkkueaMy dks ÞèkeZ dh
LFkkiuk dk lEeku djrs gq,Þ dkuwu cukus ls jksdrk gS \

(a) igyk (b) nwljk

(c) rhljk (d) pkSFkk

55. yksdlHkk esa lÙkk:<+ ny dk usrk dkSu gS \

(a) yksdlHkk vè;{k (b) xg̀ ea=h

(c) j{kk ea=h (d) çèkkuea=h

56. jk"Vªifr }kjk jkT;lHkk esa fdrus lnL; euksuhr fd, tkrs gSa
\

(a) 9 (b) 10

(c) 11 (d) 12

57. tsEl fey us viuh —fr ÞfczfV'k Hkkjr dk bfrgklÞ fdl o"kZ
çdkf'kr dh \

(a) 1815 (b) 1817

(c) 1819 (d)1821
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58. In which year Sirajuddaulah became the Nawab of
Bengal ?

(a) 1856 (b) 1857

(c) 1858 (d) 1860

59. Tipu Sultan was killed in which year ?

(a) 1792 (b) 1796

(c) 1799 (d) 1800

60. Under the Regulating Act of 1773, which new institute
was established ?

(a) Public Work Department

(b) Revenue Department

(c) Supreme Court

(d) Municipal Corporation

61. In which year a terrible famine killed ten million
people in Bengal ?

(a) 1770 (b) 1776

(c) 1780 (d) 1800

62. Under which system the planters forced the people
to sign a contract to grow Indigo ?

(a) Nij (b) Ryoti

(c) Mahalwari (d) Permanent Settlement

63. Mahatma Gandhi visited Champaran in which year?

(a) 1915 (b) 1916

(c) 1917 (d) 1918

64. Which of the following is an important factors that
can change substances into resources?

(a) Land (b) Forest

(c) Rivers (d) Time

58. fljktqíkSyk fdl o"kZ caxky dk uokc cuk \

(a) 1856 (b) 1857

(c) 1858 (d) 1860

59. Vhiw lqYrku dh gR;k fdl o"kZ gqÃ \

(a) 1792 (b) 1796

(c) 1799 (d) 1800

60. 1773 ds jsxqysÇVx ,DV ds rgr dkSu lk u;k laLFkku LFkkfir
fd;k x;k \

(a) yksd fuekZ.k foHkkx

(b) jktLo foHkkx

(c) loksZPp U;k;ky;

(d) uxj fuxe

61. fdl o"kZ caxky esa Hk;adj vdky us nl fefy;u yksxksa dh
tku ys yh Fkh \

(a) 1770 (b) 1776

(c) 1780 (d) 1800

62. fdl ç.kkyh ds rgr ckxku ekfydksa us yksxksa dks uhy mxkus
ds fy, vuqcaèk ij gLrk{kj djus ds fy, etcwj fd;k \

(a) fut (b) jS;rh

(c) egyokjh (d) LFkk;h cankscLr

63. egkRek xkaèkh fdl o"kZ paikj.k vk, Fks \

(a) 1915 (b) 1916

(c) 1917 (d) 1918

64. fuEufyf[kr esa ls dkSu lk ,d egRoiw.kZ dkjd gS tks inkFkks±
dks lalkèkuksa esa cny ldrk gS \

(a) Hkwfe (b) ou

(c) ufn;k¡ (d) le;
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65. Ninety per cent  of the world  population  occupies
only _____ per cent of land area.

(a) 25 (b) 30

(c) 35 (d) 40

66. Mass movement of rock, debris or earth down a slope
is known as:

(a) Flood (b) Tornado

(c) Typhoon (d) Landslide

67. It takes hundreds  of years to make how many
centimetre of soil ?

(a) 1 (b) 2

(c) 3 (d) 4

68. Only ____ per cent of freshwater is available and fit
for human use.

(a) 1 (b) 2

(c) 3 (d) 4

69. Mosses and lichens are examples of which
vegetation?

(a) Evergreen (b) Deciduous

(c) Tundra (d) None of the above

70. In which year East India Company captured Awadh ?

(a) 1850 (b) 1854

(c) 1856 (d)1858

65. nqfu;k dh uCcs çfr'kr vkcknh Hkwfe {ks= ds dsoy ------------
çfr'kr ij dCtk djrh gSA

a (a) 25 (b) 30

(c) 35 (d) 40

66. <yku ls pêku] eycs ;k feêh dk cM+s iSekus ij f[klduk
dgykrk gS%

(a) ck<+ (b) coaMj

(c) VkbQwu (d) HkwL[kyu

67. fdrus lsaVhehVj feêh cuus esa lSdM+ksa lky yxrs gSa \

(a) 1 (b) 2

(c) 3 (d) 4

68. ehBs ikuh dk dsoy ----------- çfr'kr gh miyCèk gS vkSj ekuo
mi;ksx ds fy, mi;qä gSA

(a) 1 (b) 2

(c) 3 (d) 4

69. dkÃ vkSj ykbdsu fdl ouLifr ds mnkgj.k gSa \

(a) lnkcgkj (b) i.kZikrh

(c) VqaMªk (d) mijksä esa ls dksÃ ugÈ

70. ÃLV bafM;k daiuh us voèk ij dCt+k fdl o"kZ esa fd;k Fkk\

(a) 1850 (b) 1854

(c) 1856 (d)1858
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ENGLISH
Fill in the blanks with the correct tense of the verbs
given in brackets

71. I _____ working all afternoon and have just finished
the assignment.
(1) have been (2) had been
(3) shall be (4) am

72. Rohan _____ the movie before he read the review.
(1) watches (2) have watched
(3) had watched (4) was watching

73. He ____ in the States but he still does not have a
command over the English language.
(1) have been living (2) has been living
(3) have lived (4) living
Choose the following into indirect speech with correct
alternatives

74. The teacher said, "The earth moves around the sun."
(1) The teacher said that the earth moved around the
sun
(2) The teacher said that the earth moves around the
sun
(3) The teacher says that the earth moves around the
sun
(4) The teacher tells that the earth moves around the
sun

75. The lady said to him, "Why haven't you paid the house
rent ?"
(1) The lady told him why he had not paid the house
rent
(2) The lady asked him that he has not paid the house
rent
(3) The lady asked him why he had not paid the house
rent
(4) The lady asked him why he has not paid the house
rent

76. He said to me, "Are you in a mood to work?"
(1) He asked me that I was in a mood to work
(2) He asked me if I was in a mood to work
(3) He asked me if are you in a mood to work
(4) He told me that he was in a mood to work.
Identify the noun from the given options

77. How many types of nouns are there in English
grammar ?
(1) five (2) four
(3) three (4) one

78. Which nouns are the names given in common to all
persons, animals, places or things of same kind ?
(1) abstract (2) proper
(3) common (4) collective

79. Which nouns describe untouchable things like ideas,
feelings, concepts or qualities ?
(1) abstract (2) proper
(3) common (4) collective
Identify the type of underlined pronoun

80. I don't want to talk to you now.
(1) Personal pronoun (2) Reciprocal pronoun
(3) Relative pronoun (4) Interrogative pronoun

81. You your self are responsible for your problems.
(1) Relative pronoun (2) Reflexive pronoun
(3) Emphatic pronoun (4) Demonstrative pronoun

82. My father is the man whom I admired the most.
(1) Relative pronoun (2) Personal pronoun
(3) Possessive pronoun (4) Demonstrative pronoun
Fill in  the blanks with correct form of the verbs

83. She _____ gone to the market.
(1) has (2) went
(3) is (4) was
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84. Rohan _____ four miles a day.
(1) to run (2) runs
(3) running (4) to running
Identify the adverb in the following sentences

85. She smiled at me beautifully.
(1) Smiled (2) At
(3) She (4) Beautifully

86. She is going to come to class tomorrow.
(1) Going (2) Come
(3) Tomorrow (4) Class

87. I was extremely sad about the whole situation.
(1) Sad (2) About
(3) Whole (4) Extremely

Identity the adjective in the following sentences
88. Shanaya is a beautiful girl.

(1) shanaya (2) girl
(3) is (4) beautiful

89. The Ganga is a long river.
(1) The (2) Ganga
(3) Long (4) River

90. Aditi makes delicious cakes and pastries.
(1) Aditi (2) Delicious
(3) Cakes (4) Pastries
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MAT
91. Choose the missing term in the given number series

2, 12, 30, ?, 90, 132

(1) 48 (2) 56

(3) 63 (4) 72

92. In a certain code, BELIEF is written as AFKKDI. How is

SELDOM written in that code?

(1) RDKCNL (2) RFKENM

(3) RFKFNP (4) TFKENP

93. If black means pink, pink means blue, blue means

white, white means yellow, yellow means red and

red means brown, then what is the colour of clear

sky?

(1) Brown (2) Red

(3) Blue (4) White

94. Choose the word which is second when all these

words are arranged alphabetically as in a dictionary?

(1) Praise (2) Practical

(3) Prank (4) Prayer

95. A series is given, with one term missing. Choose the

correct alternative from the given ones that will

complete the series,

R, M, I, F, D, ?

(1) B (2) C

(3) A (4) E

91. nh xbZ la[;k J̀a[kyk esa yqIr in pqusa

2] 12] 30] \] 90] 132

¼1½ 48 ¼2½ 56

¼3½ 63 ¼4½ 72

92- ,d fuf'pr dksM esa] BELIEF dks AFKKDI fy[kk tkrk gSA ml

dksM esa SELDOM dSls fy[kk tkrk gS\

(1) RDKCNL (2) RFKENM

(3) RFKFNP (4) TFKENP

93- ;fn dkys dk vFkZ xqykch] xqykch dk vFkZ uhyk] uhyk dk vFkZ

lQsn] lQsn dk vFkZ ihyk] ihyk dk vFkZ yky vkSj yky dk

vFkZ Hkwjk gS] rks lkQ vkdk'k dk jax D;k gS\

¼1½ Hkwjk ¼2½ yky

¼3½ uhyk ¼4½ lQsn

94- og 'kCn pqusa tks 'kCndks"k dh rjg lHkh 'kCnksa dks o.kkZuqØe

esa O;ofLFkr djus ij nwljk gks\

¼1½ ç'kalk ¼2½ O;kogkfjd

¼3½ 'kjkjr ¼4½ çkFkZuk

95- ,d J`a[kyk nh xbZ gS] ftlesa ,d in yqIr gSA fn, x,

fodYiksa esa ls og lgh fodYi pqusa tks J̀a[kyk dks iwjk djsxk]

R, M, I, F, D, ?

(1) B (2) C

(3) A (4) E
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96. Mohan travelled westward 5 km, turned left and

travelled 3 kms, turned right and travelled 9 kms.

Then he travelled north 3 kms. how far he is from the

strating point?

(a) 5 kms (b) 3 kms

(c) 6 kms (d) 14 kms

97. Choose the correct option for the given word analogy.

Mango : Fruit : : Potato : ?

(a) Root (b) Fruit

(c) Stem (d) flower

98. Choose the correct option for the given number

analogy

8 : 28 : : 27 : ?

(a) 85 (b) 28

(c) 8 (d) 64

99. If  means  -, + means , - means  and  means + then

(a) 190 (b) 180

(c) 90 (d) None of these

100. If P denotes   , Q denotes   , R denotes + and S

denotes - then what is the value of

18 Q 12 P 4 R 5 S 6 ?

(a) 53 (b) 59

(c) 63 (d) 65

96- eksgu if'pe dh vksj 5 fdeh pyk] ck;ha vksj eqM+k vkSj 3

fdeh pyk] nk;sa eqM+k vkSj 9 fdeh pykA fQj mlus mÙkj dh

vksj 3 fdyksehVj dh ;k=k dhA og LVªsfVax fcanq ls fdruh nwj

gS\

¼1½ 5 fdyksehVj ¼2½ 3 fdyksehVj

¼3½ 6 fdyksehVj ¼4½ 14 fdyksehVj

97- fn, x, 'kCn lk–'; ds fy, lgh fodYi pqusaA

vke % Qy % % vkyw % \

¼1½ tM+ ¼2½ Qy

¼3½ ruk ¼4½ Qwy

98- nh xbZ la[;k lk–'; ds fy, lgh fodYi pqusa

8 % 28 % % 27 % \

¼1½ 85 ¼2½ 28

¼3½ 8 ¼4½ 64

99- ;fn lk/ku &] + lk/ku ] & lk/ku vkSj lk/ku + rks

¼1½ 190 ¼2½ 180

¼3½ 90 ¼4½ buesa ls dksbZ ugha

100- ;fn P dk vFkZ   gS] Q dk vFkZ   gS] R dk vFkZ   gS+ vkSj

S dk vFkZ  gS rks fuEufyf[kr dk eku Kkr djksa &

18 Q 12 P 4 R 5 S 6 ?

(1) 53 (2) 59

(3) 63 (4) 65


